PRAHLADRAI DALMIA LIONS COLLEGE OF COMMERCE & ECONOMICS
SYJC FIRST TERM END EXAMINATION 2017

: 3 Mrs. SUBJECT: ECONOMICS

Marks: 80

All questions are compulsory.

Diraw tables/diagrams wherever necessary.
Figures to the right indicate full marks,

Write answers Lo every question on a new page.

Fill in the blanks using proper alicrnatives given in the brackets:
The terms micro and macro economics were first used by
(Adam Smith, Robbins, Marshall, Ragner Frisch)

There is a direct relationship between the stock of the commaodity and

(marginal utility, average utility, total utility, cardinal utility)

When the price of petrol goes up, demand for cars will
(rise, fall, remain constant, not change)

Income elasticity of demand for inferior goods is s e
(positive, negative, zero, greater (han one)

In . __ the entry of other firms is restricted.
(perfect competition, pure competition, monopoly, monopolistic competition)

Match the following:

Group 'A' Group 'B'
ather of Economics 1) Inelastic supply
Warm clothes in winter 2) public welfare
articles 3) place utility
Social monopoly 4) Alfred Marshall
Labour 5) perishable factor
6) time utility

7) clastic supply

8) Adam Smith

State whether the following statements are True or False:
Icohol has no utility 10 & drunkand because it is harmful to him.
emand for electricity is composite demand.

f the cost of production is less, supply will increase.

mand for cigarettes is highly elastic.

elling cost is incurred by a firm under perfect competition.
rapital involves social cost.

) Define or explain the following concepts: (Any three)
licing method

arket demand

rice Discrimination

ross elasticity of demand

ime Utility

on-insurable risks

sive rensons or explain the following statements: (Any threc)

arginaliem principle is used as a tool of analysis in micro-economics.

arginal utility diminishes with the inrease in the stock of a commodity.

mand is a relative concept.

e supply of agricultural commodities is relatively inclastic.

dividual sellers and buyers are price-takers in perfect competition.
supply of land is fixed.

(5)

(5)

(6)

(€)




PRAHLADRAI DALMIA LIONS COLLEGE OF COMMERCE & ECONOMICS
SYIC FIRST TERM END EXAMINATION 2017

ration: 3 Hrs. SUBJECT: BOOK KEEPING & ACCOUNTANCY Marks: 80

b.1 Attesapt any THREE of the following sub-questions: :{15)
| Write a word / term/ phrase as a substitute for each of the following statements: (5)
" Conversion of assets into cash on dissolution of firm,

Assets which are held in the business for long period.

Acceptance with some changes as regards the terms of a bill.

The main source of revenue income of " Not for profit’ concemn.

. The system of book- keeping which is not recognized by law.

3) Select the most appropriate alternative from those given below and rewrite the statements: (8]
' The liability of the partner in a firm is : : i
(a)zero  (b) limited (<) unlimited  (d) proportionate

A bill of one month drawn and accepted on 31st January 2017, will become due

on . ;

(a) 28th February, 2017 (b) 29th February, 2017 (c) Ist March, 2017 (d) 3rd March, 2017

Under single entry system, the records of cash and accounts are maintained.

(a)personal  (b)real  (¢)nominal  (d)all

The _ fund is made up of excess of income over expenditure.

L (a) specific  (b) provident  (c) capital (d) endowment

sets and liabilities are transferred to Realisation account at their value.

(@) book  (b) purchase  (¢) sale (d) market

C) State whether the following statements are True or False: (5)
Drawee can transfer the ownership of bill.

1. Statement of profit shows financial position of the business.

1. A partner who provides only capital to the firm is called as dormant partner.

| All receipts are the items of revenue income.

. If one of the partner becomes insolvent, the firm has to be dissolved.

D) Prepare a specimen of Bill of Exchange from the following information: (5)

E 1 Drawer - Jay Rathod,
i Oberoi House, Mumbai.
; Drawee - Ajay Singh,
A/120, Civil lines, Pune.
Payee - Sagar Shah,
17th Road, Kharghar.
Amount - T12,000
- Period = 60 days
Date of Bill - 13™ August, 2017.

Date of Acceptance - 16" August, 2017.

Nikita keeps her books on Single Entry System and disclosed the following i
business:

—

Particulars 01.04.2016 | 31.03.2017

Amount (T) | Amount (¥)

Furniture 80,000 80,000

Stock 40,000 45,000

Debtors 60,000 70,000

Creditors 30,000 20,000

Cash in hand 20,000 10,000

Bank Cr. 16,000 25,000

Prepaid Insurance 1,000 e

10% Bank Loan AU 40,000

\dditional information:

1. On 1* January, 2017 she withdrew ¥25,000, out of which she spent
Computer and balance for personal use. = 18

2. Bank Loan was taken on 1* October, 2016 and Interest on Bank Loan is p
3. Goods taken by Nikita for personal use amounting 34,000,
M

|
i



"—

4, Depreciate Fumiture and Computer (2 10% p.i-

5. Provide R.D.D. 5% on Debiors.

6. Interest on capital is to be provided (@ 10P% pa
Prepare: (i) Statement of Affuirs as on 1" April, 2016.

Q3.

Q4

(i) Statement of Affairs as on 31" March, 2017.
(i) Statement of Profit and Loss for the yeur ended 31* March, 2017,

On 14% May, 2016 Devidas sold goods of £90,000 to Khushal and received 1/3" amount

ﬂnlhﬂlput.rﬂn the lmdnu,ﬁdmw a four months bill on Khushal for the balance

amount which was duly accepted by him and retumed 1o Devidas.

After one month, Devidas discounted the bill with his bank@ 12% p.a.

On due date, Khushal dishonoured his acceptance and bank paid noting charges 500,

Then Khushal requested Devidas to renew the bill. He agreed on the condition that
Khushal should pay interest on the balance due @ 18% p.a. and noting charges by cheque

And should accept a new bill for the balance st two months.
ﬂn:mnmhbeﬁmﬂmducwc.ﬂhuhnlmkmdhhw@lﬂﬁp&

Pass Journal Entries in the books of Devidas.

Rita, Gita and Nita are partaers sharing profits and losses in the ratio of 2:2:1 respectively,
following is their Balance Sheet as on 31" December, 2016,

Balance Sheet as on 31* December, 2016

Liabilities Amount(?) | Assels Amount
Capital Accounts: Machinery 44,400
Rita 25,000 | Stock 20,000
Gita 25,000 | Debtors 30,600
Reserve Fund 20,000 | Bills Receivable 6,000
Creditors 36,500 | Cash 5,000
Bills Payable 7,500 Nita's Capital Ale | 8,000 |

1,14,000 | 1,14,000

The firm was dissolved on the above date and the following was the result.

1. The realisation of Assets were as follows:

a) The stock was damaged and could realise worth T 16,000 only.

b) Machinery was realised by the firm at 322,400 less than the book value.

¢) A customer who owes T15,000 became insolvent and nothing could be recovered from

his private eslate.

2. Rita took over Bills Receivable at 5,400 and Gita agreed (o pay off Bills Payable.

3. Realisation expenses incurred ¥ 2,000

4. Nita became insolvent and was unable to contribute anything from her private estate.
Prepare: (i) Realisation Ade (ii) Partoers Capital Ale (i) Cash Ale

().5 From the following information of Jyoti Association Pune,

Prepare Income and Expenditure Account for the year ending 31" March, 2017 and Balance Sheel

as on that date.
Receipt and Payment Account for the year ending 31% March,2017

Dr.
. Receipt Amount(¥) Payment
To Balance bid By Furniture
Cash in Hand - 7,500 | (purchased on 01.04.16)
Cush at Bank 20,000 | By Salaries
To Subseription By Swtionery s
2015-2016 5,000 By Magazines & newsp X J o
2016-2017 20,000 By Balance ¢/d i 1l
2017-2018 10,000 45,000 | Cagh in Hand Bl
To Interest on Sccurities 1,200 | Cash at Bank !
To Sale of old Fumniture 2,000
(Book Value Nil)
| To Entrance Fees 28,000
1,53, 700
Additional Information:

1. There are 200 members, each paying ¥ 500 subscriptia s,
2. 50% of Entrance fees are 1o be capitalised, mam P 8.
3. Outstanding salaries was ¥ 4,000 for the current year, '

2
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4. Stock of stationery as on 01.04.16 w!!,ﬂﬂﬂuﬂnmllﬂ.!?“ﬂm
5. Depreciate Fumniture by ¥ 5,500.
6. Balances on 01.04.16 were:

Investments in 8% Securities T 30,000 : .
Outstanding Subscription (2015-16) ¥ 7,000 Uk Sy

Capital Fund 1 2,67,300 ik

6 From the following Trial Balance of M/s Samta and Mamta , you are required to prepare Trading
and Profit and Loss Account for the year ended 31" March, 2017 and Balance mn at da

after taking into consideration the adjustments given below: (20)
Trail Balance as on 31* March, 2017
Particulars Debit (T) | C
Opening Stock 40,000
Purchases and Sales 3,50,000 |  4,30,000
Plant and Machinery 1,70,000
Sundry Debtors and Sundry Creditors 40,000 30,000
Insurance 3,000
Carriage ROOD
Prepaid Insurance 500
Goodwill 30,000
. Cash 5,000
: Bank Overdrafi 10,000
Motive Power 3,500
Wages 15,000
Export Duty 2,500
Rent (for 10 months) 30,000
Loose Tools 8,000
Discount 3,000 1,300
Capital Accounts:
Samta 1,20,000
Mamta 1,10,000
7,001,300 |  7,01300

Adjustments:

1. Clou‘ngstodmwhndumuketpﬁuUs,mnwhichwmiumnbyﬁm.

2. Create Reserve for Doubtful Debts @ 6% on debtors and Reserve for Discount on Debtors @ 2%.

3. Motive power included ¥ 2,000 paid for deposit of Power meter. :

4. Wagcspaidforimhllaﬁmofmmlﬁnmywmimludedhumﬂsm.
Depreciate Machinery (@ 10% p-a.

5. Goods worth ¥ 10,000 were sold on 27* March, 2017, but no entry Wz

A .
[(AAXEXXTXNEANXXNNY g




Duration: 3 Hrs. SUBJECT: ORGANISATION OF COMMERCE & MANAGEMENT m;ﬂ

PRAHLADRAI DALMIA LIONS COLLEGE OF COMMERCE & ECONOMICS
SYJC FIRST TERM END EXAMINATION 2017

0.1 A) Select the correct answer from the possible choices given below & rewrite the complete sentences:

2.

3'

4,

5

B) Match the correct pairs. (3)

a.
b.
c.
d.
e.

The Co-operative Socities Act was passed in the year
a. 1932 b. 1912 ¢ 1956
The elected representatives of sharcholders are called
a. Directors b. Members c.Owners
Principle of utmost good faith is applicable to :
a. Life Insurance b, Marine Insurance c. All types of Insurance
The Indian Railways are owned & managed by :
a, Private Companies b, Government c. Individuals
Directing is a resposibility of at all levels.
a. Manager b. Worker ¢ People

Group ‘A’ Group 'B’
RBI 1. Recurring deposit account
Overdrafi 2. 12 hours service
Saving account 3. Withdrawal after fixed period of time
ATM 4, Central bank
Fixed deposit account 5. Current account
6. Salaried people
7. 24 hours service
B. Commercial bank
9. Cash credit
10. Withdrawal before fixed period of time

C) Write a word or a term which can substitute cach of the following statements: (5

1.

ol R

Q.2 Distinguish between the following. (Any three) (15)
1%
2. Road Transport and Water Transporn
3
4,
S,

Q.3 Write Short Notes on the following (Any three)

el o

Q.4 State, with rea

A bank which is known as banker's bank.

Father of Modern Management '

A device through which calls and messages can be sent and received.
An artificial person created by law.

A function without which planning is meaningless.

Partnership firm and Co-operative Society

Planning and Controlling
Saving Account and Fixed deposit Account
Life Insurance and Marine Insurance

Features of Joint Stock Company
Any five Principles of Man
E - Banking ]
Nature of m
Role of Transport
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PRAHLADRAI DALMIA LIONS COLLEGE OF COMMERCE & ECONOMICS
SYIC FIRST TERM END EXAMINATION 2017

Duration: 3 Hrs. SUBJECT: MATHEMATICS & STATISTICS rn!uh:m
: i% - by
Note : (i) All questions are compulsory,
(i)  Figures to the right indicate full marks. : i
(i)  Answer to every question must be writlen on a new page. o 1 - .
(iv)  L.P.P. problem should be solved on a graph paper. CL
(v)  Logtable will be provided on request.
(vi)  Write answers of section -1 and Section - II in separate answer book. Y T
SECTION - (5,79
. 1. Attempt ANY SIX of the following : (12)
(i) Inaﬂm&nmﬁmﬂunfuomputxh.ﬁmuc-f;:—vzﬂx’ﬂﬂx Fhﬂllﬁ‘ﬁnllﬁ’
at x=20, .
(i) Express the following statement in symbolic form and write its truth value.
“If 4 is an odd number, then 6 is divisible by 3"
: gl won iy
(i) Find 2 ify =sin”'(yx)
Vel el |
i (iv) IfA=|2 a 2 is a singular matrix , find the value of ‘a’.
b 573
(v) Find % if y=(tanx)""*
: : 2 -1 10
(vi)  Find the value of x and y if x[3]+y[l]-[s]
(vii) If the avcrage revenue R, is 50 and clasticity of demand v is 5, find marginal revenue R, ¢
(viii) Show that the function f(x) = x+9x +8 is always increasing.
2. (A)  Attempt ANY TWO of the following (6)
(i) Write the truth value of the negation of the following statement
a) The Sun sets in the East,
b) cos? @+sin’ @ =1, foralife R
_ ¢) The square every real number is positive
|
@) If 2 =™ then showthar & = 108X

dr (1+logx)
L 2l ’
Find A" by Adjoint method A=|-1 1 2|




e

@)  Express the truth of each of the following statement by Venn Jiagrams. -
a) No circles are polygons.
b) All teachers are scholars and scholars are teachers.
n}hmhﬂwﬁngmMnnnhaM

(@il)  1fthe demand function is n-ﬁ.wmmdmn;—;

(B)  Attempt ANY TWO of the following . m*

@  If x=a(@+sin@),y=a(l-cosd) show that %-un[i)ﬂ .

(i) Ewﬂmﬁ:lhwhgequﬁnnhﬂmmﬁﬂxﬁwmndmmmbymﬁuﬂﬁfm Y
2x-yez=1, x+2y+3z=8 Jx+y-4z=1 "

(i) The expenditure E, of a person with income 1 is given by E, =(0.000035) " +(0.045)

nmuuﬁmwmawmmmemmdwmrmmmmmm
Also find APC and APS,

SECTION - II N .

. Attempt ANY SIX of the following : a2

M F‘mmumlmionmmamiamlmmafmmmﬁmpy-s[d :

) A job production unit has four jobs A, B, C, D which can be manufactured on each of the fos
machines P.Q,R and S. The processing cost of mhlubformchineily_vg' below. -

Processing Cost (Rs” )
Jobs Machines

P Qa R )

A 31 25 i3 29

B 25 24 23 21

C 19 21 23 24
D 38 36 34 40 v
How should the jobs be assignment (o machines so that the total producing cost is minimum ?

(iii)  Find the solution set for inequation Sp-T1<3y+9 . Also draw on the real line.

(i) Five jobs are performed first on machine X and then on machine Y. The time taken in hours 3
by job on each machine is given below. Determine the optimal sequence of jobs.

Jobs A B C D E
Machine X 6 2 10 4 11
Machine Y 3 B R ES
(v) Find x,ifthe C. D. R. (crude death rate ) = 13.4 per thousand, for the following data :
Age Group Population |  No. of death
0-20 40,000 350 o .
20-60 65,000 650 -
60 - Above 15,000 X

(vi) Compute C.D.R. ( crude death rate ) of a city with total number of dsaths 812 ina
total annual population 80,000 . - SR

(vii) Compute T, , given that &’y =31,1, =550,

'~ .‘-ur i 3
(viii) Find the age standard death rate (S.D.R.) for the followin Mﬁﬁi g
Age groups ( In years) | Population No.ofdeaths E%‘t‘ '
0-10 11000 g T )
10-20 12000 ]
20-60 5000
60 & above 2000 .
2 G



0. 5.

(A} Attempt ANY TWO of the following ()]
() Obtain crude death rate (C.D.R.) for city A and B from the data_given below :
AgeGroup | Clty A City B
{in years ) Population | No. of deaths | Population | No. of deaths
Below 15 800 2 900 12
15-2§ 3000 12 1500 B
25-65 4800 18 4500 38
65 and above 1400 42 600 30

(i) There are 5 jobs each of the which is to be processed through three machine A, B and C in order
ABC Prmﬁngﬁminhunmﬂdnmhﬁnﬂmﬁg}ﬁn:

lobs L 2 3 4 5
A k] a 7 5 4
i} 4 H 1 2 3
C 7 9 5 6 10

Determine the optimum sequence h&_ﬂujohlndhmlulmumahpul time

(i) Solve the following maximal nssignment problem :

Branch Maonthly Business(Rs lakh)
Manager
A B C D
b3 P 11 11 9 9
Q 13 16 11 10
R 12 17 13 [
S 16 14 16 12
(B)  Attempt ANY TWO of the following (H)
() Solve the liner programming problem by graphically method,
Maximize z=5x43y
Subject to:
x+ys<d
Ix+8y<24
Sx+3y=<18,
xyel
(i)  Determine 192. !93. ;94 given that
27 15
Iy = 97, d,, = 38, q, =§3*Fu = 2
(iii)  Find the sequence that minimizes the total time required in performing the following jobs on the
3 machines in the order CBA. Also find the total elapsed time and idling time for each of the
machines.
Jobs 1 TV T O
Machine A ] 3 7 2 5
Machine B 3 ]
Machine C ] 7
(A)  Attempt ANY TWO
(i)  Solve the following m

Jobs




(i)

Lo -I_i
for parrots.

j '“&:1#.—:&:‘::.#:;. [ty
lx {0 77 o
"1 | 1000 |940 |780 |590 25

(=RL%y)

A'mhmumluawmcmhinciﬁﬁP.Q,R.andSmdoncdnﬁcitmmhin ities A

B, C, and D. the distance in kilo meter between the cities arc
Cities. Distances (Kms.) ]
A B C D
P 8 5 8 S
Q 9 3 6 9 C
R 4 10 7 4 :
5 3 5 6 1 )

The management uﬁshmmdatuminnthcmimunofsmplmmtoﬂndﬁuﬁﬂu 3
dﬂmﬂbﬂnwﬂﬂommﬂh&ﬁivumwﬁwuﬁmmifpoﬁm compute
the total distance for optimum assignment? .2

Apummnkesmwpcsufgiﬂitﬁmhmﬁﬂrequiringlhesewiuof:mmandl i
Gift item A requires 4 hours of cutter time and 2 hours of finishers time. Gift item B reg
hwsofcuﬁersﬁmemd4hnmufﬁ1ﬁshmﬁme.mmt:rmdﬁniahmhawm
152 hours available time respectively every month. The profit on one gift item of type A is
‘fhndmg\emtemoftrpekks.lzs.Asmmingdauthepumumseﬂ:ﬂlh:ﬁﬂ‘
produced. By L.P.P. method determine how many gifl items of each .
every month to obtain the best retums? et wmﬁh;
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PRAHLADRAI DALMIA LIONS COLLEGE OF COMMERCE & ECONOMICS
SYICFIRST TERM END EXAMINATION 2017
Duration: 3 Hrs. SUBJECT: SECRETARIAL PRACTICE Marks: 80

DAL Select the correct answer from the possible choices given below and rewrite the statements. (5)
I Depository Act was passed in
(a) 1996 (b) 1986  (c) 1985
2. Preference shares carry dividend at
(a) Fluctuating (b) lower (c) fixed
3. A Depository receipt traded in alf the countries except USA is called
(#) Global Depository Reciept (b) Fixed Deposit Receipt  (¢) American Depository Receipt
4. Dividend warrants are issued to holders for getting dividend. '
(a) Share certificate  (b) Share warrant (¢) Coupon
5. Refusal to allot shares is conveyed through letter,
(a) Regret  (b) Allotment {c) Call

rate.

B.  Match the Pairs (5)
Group A Group B
(1) Fixed Capital {(a) Saving account
(2) Overdraft facility (b) Return on shares
(3) Bonus Shares (¢) Return on debentures
(4) Depository participant (d) Investment in current assets
(5) Dividend (e) Preference Shares
() Representative of investors
() Capitalization of profit
(h) Debenture holders
(1) Current Account
(i) Investment in fixed assets
C.  Write a word or term or phrase for the following statements. (5)

A mix up of various sources of funds in desired proportion.

Dividend declared by the company between two Annual General meetings.
Offering shares in the beginning to public for subscription
- The authority who can issue debentures

5. A bond on which no interest is paid but issued at discount,

Distinguish between the following. (Any three) (15)
1. Fixed Capital and Waorking Capital

2. Interim Dividend and Final Dividend

3. Shares and Debentures

4. Share Certificate and Share Warrant

3. Transfer of shares and Transmission of shares
Write short notes on  (Any three)

1. Employee stock option scheme

2. Types of Preference Shares

3. Features of shares

4. Provisions regarding unclaimed / unpaid dividend
5. Provisions regarding acceptance of depasits
State with reasons, whether the follg
. Financial planning is not imper

e




SYJC FIRST TERM END EXAMINATION 2017

PRAHLADRAI DALMIA LIONS COLLEGE OF COMMERCE & ECONOMICS
on: 2 % Hrs. SUBJECT: INFORMATION TECHNOLOGY ‘Marks: 80

Fill in the blanks and re-write the sentence. B []]
In Tally, undmmﬂuktnsfhtmmeniufgmdmrmnusmplhi
To play sound without control, tag is used.

data type of Access will store either one of the value i.e, trueﬂrﬂiﬂ.
Invingtopology,  method is used to transmit the data.
In Tally, to pass pmhuevmluuntry key is used.
Rel is an attribute of

cables uses electrical signlli to transmit the data.
NCSA stands for

model describes transactions between umnufnclurer and whaolesaler.
0. STP stands for y

'—‘D“HF“P‘:"."‘!“-‘T'

2 State following statements are true or false. [10]
l. To see the video with control, <bgsound> tag is used.
2. In Access, the collection of records is referred as form.
3. Debit note is useful in case of return of goods by the customer,
4. C2C is an example of e-commerce type.
5. A CSS declaration always ends with a colon,
6. .AV]is a video file format developed by Microsoft.
7. In e-commerce scope is local.
B. A transmission media is a material substance that can propagate energy waves.
9. Unix isan mmmpln of freeware.
10. In Access, query is the question about the dala stored in the table.

Select one correct option from following and re-write the sentence. [20]
1. means the key of a key pair used to create a digital signature.(public key, private key, key
pair, digital certificate)
2. isadis-advantage of internet commerce, (delivery of product, Supply Chain Management, Service
perspective, Online perspective)

3. is an attribute of <select> tag. (src, href, size, value)

4, can act as databasc or catalogue. (EDI, Trade cycle, Electronic Market, Internet Commerce)

o, programs can be freely incorporated into new works without paying royalties for original
material. (Shareware, Freeware, Public domain software, Fair use)

6, is an advantage of fiber Optic cable. (Low atienuation, Medium onnl.C'om 100 meter
area, moderate level)

1. ~__ identify what is wrong and what is right. {Moral, Lﬂ.llr. i

8 s lhc series of exchanges, between a wmnuani
mm:mmml exchange is executed. {E—Cummm'.l,

9. In network,

12, In Tally, F5 shor
13. In Access, when




19. In Access, quuyisjustamndiﬁedaaledqmdbdﬂﬁ-

20.

Q4

et

Q.5

Q.6

Q.7

Q8

—
=

—
-

Append, Parameter,

__._1-55“ predefined group present in Tally. (Current Assets, Profit-Loss a/c, Cost Centre,
Profit-Centre) p.
Select two correct options from following and re-write the sentence. {10}
and are audio file format. (.wav, Avi.: ,midi)
and are network hardware, (Hub, Switch, Topology: 0sh :
IPR includes and points. (Copyright, Shareware, Freeware, Attribution) .
and are unbounded media. (Fiber Optic, Twisted Pair, Radio Waves, Micro g

Waves)
and are aitributes of <tablc> tag. (Width, Src, Border, Firef)

Select three correct options from following and re-write the sentence. ey o]
Following are the characteristics of co-axial cable, Facy &
(casy 1o install, inexpensive, easy to expand, high speed)

and - are database concepts. (Field, Memo, Table,

Module)

Rearrange the following.
To create purchase order in Tally.

Press F11 to make changes.

From inventory vouchers activate Purchase Order.
From inventory info create required things.

Click on Accept order.

Shut the company.

Provide all details to create order.

Create company.

te frame horizontally.

o P

pesn

m ™M

To

i

<frame sre="a.html™>
</frameset>

<html>

<frameset rows="30%,70%">
</html>

<fitle>

:a@':ﬂﬁ-ww:-'a

Answer the following.

List all security technologies.

Explain the concept class and id with proper example.
List few advantages of Electronic Market.

Write the code for the following.
Design a web page to accept personal details from user. Use all form controls for the sa
Divide the web page in 4 equal parts- horizontally. In each part it has to display the cc

without control, Video with control, Audio without control, Audio with control,

LELA S T T




Q PRAHLADRAI DALMIA LIONS COLLEGE OF COMMERCE & ECONOMICS
U SYIC FIRST TERM END EXAMINATION 2017
uration: 3 Hrs. SUBIJECT: ENGLISH Marks: 80

SECTION A

(Reading Skill, Grammar, Note Making and Summary)
.1 (A) Read the following passage and answer the questions given below: (11)
here are some glimmers of hope. | met up young Navdeep Ahuja who along with another collcague began the
ocuously named Graduate’s Welfare Association, Fazilka. They are bringing about change with the mandate
[ citizens participation in governance and are facilitating the creation of physical and social infrastructure
cross 22 cities in Punjab. They have put in place a network of cycle rickshaws called Ecocabs which can be
oked through a mobile phone. They are also developing car free zones, food and culture street in these cities.
this is being is done very efficiently and at a low cost. We need many such organizations,

However, my ideal of a city in 2020 is not a utopian dream. It is achievable. It has street where people
alk on wide footpaths shaded by leafy trees, Streets are usually one third of a city ‘s area and its most
emocratic segment. Public space dedicated 1o pedestrians reduces inequality and should be accorded priority
shen developing cities.

Adjoining the street should be cycle lanes where bicycles and rickshaws can sail past smoothly. It will
ve a great public transport system with buses, metro and taxis. Parking will be difficult and expensive so
cople will use public transport rather than cars. There will be parks and gardens and the air will be clean, as
lution levels will have dropped dramatically.

And then, cities will become areas of graceful living and a charmed way of life.

. What is the passage about? 1
.What according to the writer, is achievable and why? 2
.What is the glimmer of hope? 2
.What facilities according to you, do the Indian cities need? 2
. Do as directed:
) Streets are usually city's most democratic segment. (Change the degree) 1
i) Cities will become areas of graceful living. (Make the sentence less certain) 1
ii) The air will be clean as the pollution level will have dropped automatically. ( Use Unless)l
L Give one word for: 1
) small signs (b) without any controversy

) Grammar: 4)
0 as directed

Nowadays, we have to use solarenergyon __ large scale.

(Fill in the blanks with appropriate articles) 1

) They stood ____ silenceasamark ____ honour to her.

{ Fill in the blanks with suitable prepositions) 1
i) “ Can you suggest me a good hotel?” Mr. Shah asked the taxi driver, “Yes, [ will. It's very close to the
ilway station," said the taxi driver. (Change it into Indirect speech) 2
L2.(A) Read the following extract and answer the questions given below: (11)

So today in one fnonth India sells four times as many phones as the entire country possessed three decades
0. Attitudes have also changed from that of the old communication minister to today’s enlightened Telecom
gulatory Authority of India, a model of its kind,

But most important of all, as my story of the toddy ~tapper confirms, is the issue of who carries these
llphones in today,s India. For, the cell phones are now in the hands of people who would not have presumed,
eneration ago, to put themselves on those eight year long waiting lists. If you are chauffeur driven these days,
U can be sure that your driver carries a cell phone. If you visit a friend in Delhi suburb, the istriwallah on the
streets — with his wooden cart, using a coal fired steam iron to iron clothes from the neighbourhood —
ies a cellphone, to know which apartment needs his services. Farmers carry cellphones, just being able to
I the nearest town to find out whether the market is open and what prices are being charged saves a farming
mily hours of fruitless walking. In Kerala, fisherfolk carry cellphones, so they can call in to the coastal towns
fer their catch, to know where they should sail to in order to obtain the best prices for their fish.

The cellphone is not a panacea, it will not single- handedly usher in the development that our country has

striving for since Independence. But it is making a huge difference. Above all it has empowered the Indian
El‘ﬂiﬁs in ways in which 45 years of talk about socialism singularly failed to do. In the new India,
munications has become the great leveller,




{l}misthnpupunofwﬁﬁuthiaum? 2
(2) What is the strange in the description of the m‘i 3
(S)I-k;whummimiunhemmthemw ;:’
(ﬂWhﬂmtbnMelwuuﬂndwiwuhathwuphﬂdlwmhwl_ our society? How?
lf(ﬁ)l‘.'uuui:Ii:tu-,wtl: : 5 i ; 3
i) Communication has become a great leveller. Make it Iw lex sentence) ot
(ih In the new India, communication has become a great levellet. (Use the verb form of the underfined wo

(i) It ismﬁngamdiﬂ'uwba,(ﬂnmwﬁnﬂmm)
(6) Give meanings of ~ 14
(a) panacea  (b) usher 1
(B) Note making :

extract s (able given below:

mu-mmﬂmw e o) { Guarantee Act i

(MGNREGA) was passed in 2005 with an aim to enhance the livelihood security 0
uaranteed 100 days of wage employment to unskilled manual workers.

A uniqy W - of over 20,000 rural household came up with some interesting results ]
comparing the facts in 2004-05 to those in 2011-12. The participations of met and women in 2004-05 was
12.2% and 8.8% respectively which rose up to 23.4% and 17.7% respectively which can be regarded asa

The percentage of MGNREGA participants taking loans from private money — lenders sharply fron
47.9% in2004-05 to 26.7 % in 2011-12. The scheme acted considerably in reducing the reliance of people g
private money- lenders.
Nearly 34.2% participants borrowed from formal sources such as banks and self- help groups as
compared to 23.9% in 2004-05. MGNREGA's focus on direct payment o participants through banks may
account for this improvement. b
The average annual interest paid by the participants fell sharply from 18.5 % in 2004-05 to 29.6% in.
2011-12. This is indicative of their shifts from paying higher interests to money-lenders. E

The poverty ratio in 2004-05 was 52.2%. By 2011-12, it dropped to 31.9% . This clearly proves the

fact that MGNREGA fared well in the first decade. E

MGNREGA FARED WELL
e Passed in 2005
e Guarantees 100 days employment in rural area.
SR. No. Particulars In In Conclusion
2004-05 2011-12
i Men / Women ratio 12.2 % Men A considerable
17.7 % Women | growth.

% Informal Loans
(From money lenders)

26.7% Reduced reliance

Lgr S .




0.3.(A) Read the following extract and answer the questions given below: (11)

Newspapers, especially of the popular variety, aim to do two things: to inform and to entertain.
Entertainment may be principally found in the centre pages of newspaper, in some of the feature articles and
some local news stories. The principal aim of the short news report on the front pages is to inform.

Most newspapers are published daily and the news reporters must make sure that they have up to the
minute news. In their news report they will aim to create a sense of immediacy, to convey the impression that
they have rushed the news to the reader and ‘that the information contained in the very latest.’

Reporters also wish fo create a sense of authenticity, that is, that their news is accuratc Ildgumﬂm.
 They may thus refer to their sources, to the spokesmen who informed them, perhaps quoting their very words to
show that what has been produced is the ‘real’ news.
Just as reporters appear to be in a hurry to find out and then retell their facts too so the readers of the
daily newspaper are often in a hurry, trying to read as much of the news as possible before rushing off to work.
is is perhaps what dictates one very common format for news reports. According to this format, the first
naragraph or two of the news report contains most of the points of the story, in a condensed or summary form.
he following paragraphs go over all the main points again but this time adding more details. Thus the reader
is in a hurry can get main idea of the story by reading just initial paragraphs. The editor of the paper also
benefits from this format, for if he or she runs out of space in the paper, some of the last paragraphs of the story
an be deleted without too much harm.

1) What is the theme of this extract? 1
) What is thc purpose of the newspaper? 2
) Why do the reporters refer to their sources? What does the first paragraph of news contain? 2
) What according 1o you are the advantages of reading the newspaper daily? 2
0% 5) Do as directed:
(i) Most newspapers are published daily. { Change the voice) 1
i) The reader who is in a hurry can get the main idea of slory by reading just initial paragraphs. (Rewrite as
Eimple sentence) 1
1ii) Reporters also wish to create a sense of authenticity, { Rewrite as a rhetorical question) 1
6) Write the anonyms of:
a) popular  (b) condensed 1
B) Summary:
Write a summary of the above extract with the help of the points given below and suggest a suitable title:
)
Points:  Aim........... upto the minute news........create a sense of authenticity.....format of newspaper.
SECTION B
(Poctry)
D.4 (A) Read the following extraet and answer the questions given below: 4)

If you accept a counsel without getting sore
And re-assess vourself in the light there of
If you pledge not to be obstinate any more
And meet others without any frown or scoff
You may be the person I am looking for.
If you have the will to live and courage to die
You are a beacon-light for people far and wide

If you ignore the jeers and, thus expose the
“That virtue and success do not go s

[ |.|

2) According 1o you, how s
3) Name and explain the
You are a beacon-light
#) Pick out the qualities




(2)You wish (o ban the use of plastic carry bags in your locality. The use of plastic carry bags is a serious threat
the environment. Write a letter to the Editor of a newspaper suggesting suitable steps to overcome the

3) Write on any ONE of the following items:

1) Prepare a short tourist leaflet on any of the religious place of your choice with the help of the
following points. @
i) How to get there.

ii) Accommodation

Wiii) Best time of the year to visit

iv) Add your own points

OR

2) Read the following headlines of news items. Choose any ONE of them and write the dateline, intro and
p short continuing paragraph:

i) Honest Auto Driver felicitated (ii) Food poisoning affects 20 people

() Answer any ONE of the following:

02012 g2013 :

169
1344 s 140 135 A=
112 e — —
= b = — 82 — ;
= - = —
o +1= ' bl 1 == B - R B -
MICROMAX LG SONY NOKIA  KARBON
OR
2) View-Counter view ; ‘
Prepare a paragraph with an appropriate title to be used for the Counter view section on the follow tnpu:
bout 120 words) Garkaflis ;-_,.; i
Electronic media is beneficial than print media’ : : T A e
ou can take help of the following points included in the View Section - .] e i e
View Section ‘
) Television, Internet have revolutionised society.
They have brought the world closer.

ii) Electronic media provides entertainment as well ‘
) News can be downloaded from different websites and can be read at leisure

P)Live coverages sometimes make the news more interesting.

Q.7 Answer the following questions as per instructions:
) You intend to know about a doctor practicing in rural area. Prepare a set of

2 a speech on it in about 100 words.
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) PRAHLADRAI DALMIA LIONS COLLEGE OF COMMERCE & ECONOMICS
g SYJCFIRST TERM END EXAMINATION 2017

Répondez en frangais par des - e
Iu En quoi sont les robes? Et les bljﬁ:_ complétes (8 au choix)

7) Qu'est-ce que,C'est, le TGV?

3) Quel montagne sépare la France de |' Al sqich

4] Quels sont les trols repas du jour? m7

) Qu est —ce qui attire les w"m‘mhmﬂélﬂm.

§) Nommez trois chateaux exceptionnels dans le val de Loire?
7) Nommez deux """"W"ﬂlihmdah essin

g Que donne-t-on au garcon du ftﬁlinnt-i"l'.“: i repni?
4| Quels produits est-ce que La France exportent?

10) hemmet le Président et le premier ministre de la F .

2 Grammaire: {22}
{A) Complétez le texte suivant avec les mots donnés, ¢i-dessous: @
{beaucoup, cet.hﬁnﬂ!i.hlﬂﬁ..mrm.,hli.mdl
Sals-tu les - = (1) nouveiles? ) al LLLITIT AT e— 1) apartment--——— (3) Delhi Il a un————4) salon

et une (5] chambre. Il est dans un immeuble—————(6) llya un jardin avec
8) apartment.

7) d'arbres. Quand

wiens-tu voir

(B) Complétez avec les pronoms relatifs: (a)
1) 11 & vu un filmn ——- tout le monde parle.
2) Eroutez cette diente—---p.l. avec la coiffeuse,
3] Allons au magasin --———-—-on peut acheter les robes.
4] La damg -==-— -tu parles est ma tante.
{C] Remplacez les mots soullgnés par des pronoms qui conviennent. (4)
1} I'siacheté les fleurs du marché.
2} Elle a mis des livres dans l'armoire,
3] Aishwarya a hablllé Alshwarya
4] Va i Delhj avec ta mére.
D) Mettez les verbes entre parenthises au temps qui convient: {4)
1) La semaine prochaine Je {aller) au Canada.
2) (5" assecir) sur le banc ,s'il te plaft.
3) 5l on (utiliser) molns de voitures,|'air serait moins pollué.
4) Nous(finir) notre devoir, ilya deux heures.
{E) Mette les verbes entre parenthéses au temps ou au mode indiqué ()
1} Mes parents {arriver) du Canada bientét-——(Futur proche)
2} Mon cousin (cueilli) les raisins (Futur Simple) _
3} Quand Nous (manger) des légumes, mes amis sont are
4} Nous (commencer)n le devoir,aujourd fui
U Faites comme indiqué : _
1) Martin est doux, il pa
2 liva chez le boucher (Tra

13 Vocabylaire:

3 Tﬂmnm lesr
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D) Reliez les deux colonnes: (2)

1) Sophia Antipolis a) écrivain,
Z) Rousseau b) la satellite
€} Un grand centre de science.
Q4  Compréhension: {10} "

Lisez le texte qui suit et répondez aux questions en frangais par des phrases complétes:
Nous nous promenions un matin, Alphonse, Allais et moi, sur la route d" Honfleur a P““"Am!?" 1
Nous passions devant la gare de Saint - Sauveur une petite gare minuscule et uoquettc.’lln train s’ y i
arrétait le matin, un autre train, peut-étre le méme, venant en sens (direction) inverse, s’y arrétait le soir
- Allons dire bonjour a ce chef de gare qui doit &tre bien seul, me dit-il. 1‘
= Vous le connaissez?

- Pasdutout. |
Nous sommes entrés. Un homme était 1, tout seul, en effect, qul se promenait sur le qual, les mains :
derritre le dos. Nous sommes allés vers lui. l

- Vous étes le chef de gare, monsieur? Lui dit Allais.

- [Parfaitement, monsieur.

= Ehbien je vous fais tous mes compliments, vous avez une gare charmante....charmante, charmante... mais
comme elle est mal placée. Si vous aviez cela a Paris feriez utt argent fou!

(A)  Questions: (3) |

(1) Comment s’ appellant les deux amis? /
(2) Combien de trains s° arrétent — ils 3 la gare par jour?
(3) Décrivez la gare.
(B) Dites vrai ou faux: (4) .
{1) Ny aunchef de gare a la gare
{2} Les deux amis cannaissent |e chef de gare
(3) Le chef de gare gagne beaucoup d'argent.
(4) Cette pare était & Paris

{€)  Mettez au négatif: (1)
Le train s’ arretait le matin a la gare
(D) Donnez le contraire de : (2)
Vendre; derriére
Q 5 Choisissez un des sujets suivants: (8}

A) Ecrivez une composition sur le sujet suivante  (80-100 mots)
Les Saisons de |a France
ou

Nishi a assité a un mariage francais en France.Elle écrit une lettre a son ami lui décrivant ce
amife) In-dlen{ne
» Ee, [a‘]'"“'“'Otsj } I o SRl '1

why
Q. 6 (A) Traduisez en anglais :

) v i
@®

métier, pour mieux communiquer avec des touristes dans son pays? Oui
vers un autre monde. Et qu'est-ce que c'est 'apprentissage d'une lan
Pouvoir la parier couramment? Etre capable de la lire et de I'écrire? No, '’
; .Apprtl'l'.'lfl une langue c'est connaitre la geographie, Fhistoire z: : e!t i :
et artistique d'un people. * 9 Vig sociale, économique, politique, scientifigue
C’ est aussi comprendre le monde.
(B) Traduisez en francals (4 au choix) :
i. If they have time, they will go to see a film, (8)
fi.He wrote an interesting article on French chegse
iil. We are hungry, let us go to the table. :

v. When | was eating, my friend entered the house
vi. Nobody speaks to me, what should | go > )

i'lt".-.““

2

gt !
L2 D L i O 1010 e
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PRAHLADRAI DALMIA LIONS COLLEGE OF COMMERCE & ECONOMICS
SYJC 1°" TERM EXAM 2017-18
Subject: HEALTH & PHYSICAL EDUCATION

purstiont 1 e Max. Marks: 25

—

| ow. ROWNO. Marks Obtained

I s Examiner’s Sign

G 1 A Sem “‘mmﬂmmuummm 2)
be—o——— _ b r name of Football Game. (Rugby, Freebie, Soccer)
. i an importaat of i (Wealth, Time, Health)
3. There are

————__._mlnmhum for relay race. (03,04 ,05)
4. Kapildev is related Iﬁlh__________ (Chess, Carom, Cricket)

B. Match the following; @)
s ¥ B Answer

1. Mary Kom Athletics

2. Mabendra Singh Dhoni  Shooting

3. Milkha Singh Boking

4. Anjali Bhagwat Cricket
€ Mwwmw‘ﬁm“hu.rm' 2)
(i) One Set of Badminton is having 21 Points.

Aps. s
(if) There are 10 players in kabaddi game.

Am" — —
(iii) Total Number of Points in a set of Volleyball Game is 25.

Ans,

(iv) Boxing is Our National Game.
ABL ST
0. 2. Answer the following questions in one sentence.

A. What do you mean by Fitness?
Ans.
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E. Benefit of exercisca? o

Q. 3. Define the following Terms.
A. Define Yoga in details.

B. What are the Causes of Obesity?

—_——

Q. 4. Answer briefly, ()
A. What are components of HRPF?

B. Write the measurement of volleyball court 7
Ans

Q. 5. A. Write Short Note on any one of the following famous player of India, 4)
(2) P.T.Usha (b) Muscular strength (c) Major Dhyanchand (d) M S Dhoni

; OR

B. Draw the Court diagram mentioning the details. (Any One)

1. Kho-Kbo  2.Hockey 3 Handball 4. Cricket
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